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All chemical equations you give should | a_ale.st O¥alasd! aanr CSI
be balanced including the conditions of Sl o i S e i i

the reaction. ;
Answer the following questions: PAGY ALY oo o

Choose to answer (a) or (b). 1(@) 91 (1) oo Aol poi -
Write down the scientific concept thatis | :3)Lat Lle JIA olalt mllaaet! IS
expressed as: aaledt OligSe le @yt Lgd @ dcdee (1)

(a) A process involves the identification of | .sigesuc (ro Lo gline of G colS ¢/ gu
the constituents of a substance either being | ;s agles @oms 28,5 (pad Ades ()

pure or a mixture of several substances. | as  dieglaes el Jgloa
(b) Aprocess of determining the concentration | yylai, adt g glath Jgloall S 34
of a given volume of an acidic solution by LoLod 4ne

knowing the volume and concentration
of the alkaline solution that completely
neutralizes it.

How can you distinguish, without using | caalsS alasiw! gy jued S =Y
chemical reagents, between lead (II)| () yolw 31 anysiS lo (o Ailiass
oxide salt and potassium chloride salt? 355wl gt Ly 598 b

v/ U.JLIJI JoaJl - d=salpoldalinl) A A auj



TAV/Y AT Gyl pladt i1 gt (i) 2a01y) oI Ealal iy 8] byl L3 Bl (i

Choose the correct answer:
The following ions are paramagnetic and

1 donowall Wl Wy -V
Wigleg Awudoline Hly A JLII LI g ¥

coloured, except:
@ Ti*

@ Mn 2t

@ Fe 3+

@ vV 2+

ldele
Tiv (O
Mn 2t @
Fe 3* @
vV 2t @

EB What would happen after a while from | slw 29 (40 Auen 3 B 518 day Gakns f3le -8
dipping a magnesium rod into a blue|obu,8 (e Jslme 2 pgeuidlal! (4o

copper sulphate solution?

9218533 Lulowid

I Show by chemical equations how to | Juas cas ileeSI S¥alactly aag -0

obtain triglyceride ester.

ok | AN Sl e
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I3 Give reason for: rIL Lt Jle -
The lead acid battery is considered as a|s dcael=tl jolw,tf dujllay ,cas
secondary galvanic cell. LA gL A LAl | L ST

Choose to answer (a) or (b). () 9l (1) oy Aol pid -V

Show by chemical equations how to obtain: | : ol i 28 Lo L O¥ slaell sy
(a) An organic compound from an aqueaus | (=St Sle Joloe (ps (5 guae oS pa (1)

solution of two inorganic compounds. (gle b
(b) Dihydric alcohol from monohydric |J$>S (= JsuSgsbdl Lo Jsms ge)
alcohol. oS 9 gl Sl |
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3 Arrange the following steps to obtain | e Jsmastt 2JLH1 Sigtastt o)y -A

sodium ethanoate from sucrose: 1 39 55uud! (yo p g3 gualt ol 3Ly
(Complete oxidation - Fermentation - — Jalad - YamS reii - Aeli Suwsi)
Neutralization - Hydrolysis). (e S

EB Calculate the pH value of a weak mono- | aus oinax Jotoed PH dad vt -4
protonic acid of concentration 0.2 Go¥se 0.2 058,05 Ogigpd! gals]
Molar, given that its degree of ionization 0.03 5 glus ails 2> 53 0L Lake
equals 0.03.
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Choose to answer (a) or (b).
Write down the scientific concept that is
expressed as :

(a) A transition element used as a catalyst
in the industry of ammonia by (Haber-
Bosch) method.

(b) A series of elements in which the sublevel
(4d) 1s filled successively and located in
the fifth period in the periodic table.

L 31 Aaltly) eleasdl - doladt 2l o L dt yid | aled | Balgds Oyl
3 el R XL Hdlplas)

(0 91 (1) 30 Aol M1 i -1+
13 )latt Gle JI elall milkaagll CASY
P las JelsS ansviun JES| uaic (1)
< (Uhge - b)) Ay oy palacd (e Aclio
sMiel lgd by jolic 4egemae (o)
& adiy (4d) 2! (5 gued!
.‘5)34:!‘]34:..:“’_,.»@&:15”&!

Choose to answer (a) or (b).
Show by chemical equations a confirmatory
test to detect for:
(a) Sulphate anion.
(b) Thiosulphate anion.

() 91 (1) cre Al W1 i =\
A0S Ay o A LS O s ladt iy
1 (e 2SNy

Sl S (3 901 (1)

Ol oS 9581 3251 ()
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Choose to answer (a) or (b).
Explain:

(a) The rate of the chemical reaction depends
on the type of bonding in the reactants.
(b) The electric conductivity of sulphuric acid

does not increase by dilution.

20 3o 3 2300 £ leaT I dalall d g3 By Aladf Balgds lmtal
2 et 1) #lia L] I falea!

() 91 (1) e Al W1 o> -\ Y

§ g

ML lee ST o Lot 1 ae o calisn (1)
Jdelaiall dged! SB dasl 1 ¢ 93

o ST e S 93 A 93 31355 ¥ (o)
s 8ok s ST Ll

Mention one importance of the chemical | ileasSI Jill susly dpenl 831 -\ ¥

analysis in the medical field.

lall Jlos 2

Choose the correct answer:

On mixing two equal volumes of hydrochloric
acid and calcium hydroxide solutions, each
is of concentration 1 Molar , the produced

solution would have:

an acidic effect.
pH value equal 7.

an alkaline effect.

®006

pH value greater than 7.

s Aoialt Al W i -\ £

pae> I glme [y (o glucio (pana dals e
P peeudISI) S gy g il yelS g jugld|
L Jglonad| 0355 (oY 90 1 Logia JS

.7 e St pH aoud

. OOOO
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Give reason for: sl -V o0
Nickel — chromium alloys are used in heating | clate 3 pg,Sty JSatt clilew RITEI
coils and electric furnaces. Ao ST O a Y g Cpduadd|

Compare between alcohols and phenols | -2 S% gt § ¥ gmSIH G ()3 -1 1

in the table below. P8 (v (I PRCS |
Point of comparison Alcohols Phenols
WHlaatl ax Y gomsT O gall
Acidity (1
Z\._yb.ﬁl.:d‘ K S 1 L. W T RO e

Reaction with caustic soda
2:'3\51‘ ‘.\5.44."@0 delady LN TS LN ] [ -y

Naphthalene and diphenyl are aromatic | SLS st (po Joiciadt LG g md Biaid| -\ Y
compounds. LA Lag ¥
First : Write down the structural formula of Logie JST Al Aapuall LIS1 + ¥ o
each . Loy M a9yl ¥ g0 e Lo 1 LS
Second: How many moles of hydrogen are Slagio oS o IS el
sufficient to saturate each of these
compounds?
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The diagram below illustrates a galvanc cell

s Al Ads s T JSET -\ A

()
)
Salt bridge zates s

First : What do you expect for the value
of the electromotive force if the zinc
half-cell is replaced by an iron half-

cell?
Explain your answer

Second: What would happen ifthe salt bridge
is taken out from the cell solutions?
Explain your answer.

AaBIiN By At he Y A8y 3l s ¥l
Ads Caad Jladil @3 1] A eSS
Sy Bl s (e st
RIS
A1 5 daiat | a8 ) die oy 13le + LAl
iy lon | s SAAS Yl (yo
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Choose to answer (a) or (b).

Write down the scientific concept that

expressed as:

(a) An aromatic compound in which two
hydroxyl groups are directly attached to
the benzene ring.

(b) A polymer that is heat-resistant,

electrically insulator, inert and used
in surgical threads.

Choose to the correct answer:

The reaction between hydrochloric acid and
propene gives:

1,1 dichloropropene.

1,2 dichloropropene.

2- chloropropane.

®O06E

1- chloropropane.

10

L 31 Aaltly) eleasdl - doladt 2l o L dt yid | aled | Balgds Oyl
3 el R XL Hdlplas)

+(2) 9l (1) (o Aala ¥ 43 -4
13yl e JIAN elall llaael | LS
On ! Al did Sl (Slag)l oS e (1)
S 9y (e gamas 8 piilie
Jiley Byt Slass Jasi jed 9 (<)
o gt | (B by Jalin g L pgSUS
i |y

+ Aovouial! Al Wyl - Y+

o HusiSongl! paes Jelai e
g (g

(99098 HSLE N A ®

O 9088 HLE Y N @
Dbarmss Y &)

Sbamass v (D)
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Give reason for: f e - Y
Phenolphthalein is not used to distinguish | joceaidt 2 dlial gt adsing ¥

between ammonium chloride and sodium | ;589 pg-cga¥ i dyyslS ot gloms (3o
chloride solutions. g3 guall

In the following reaction I Jelait) o - Y

AgNO;+ NaCl ———— NaNO, + AgClI
Which graph represents the relationship |(ne 28Mall (pe pas 2JIEI JSaY g

between the concentration (C) and time| . (T) (eid1s (C) & Melaiad! 8,3

(T) ?
C C C C
\, \

T T T T
@ ® @ ©

Show by chemical equation the effect of

el )3;‘ Adleast! Walastly =<9 -YY
passing steam over hot iron.

.O:'»Lu.” ..\:h.\m.n e GLQJ“)\:'-..)
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Using one reagent, how can you distinguish Lloc jead LS oo g cadlS alasiwl -Y¢
practically between the solutions of sodium | agss gal! ity 18 ombo Jgloo (o

sulphide and sodium sulphite salts? 933 gl | Sl ;S
Choose to answer (a) or (b). (@) 91 (1) (oo Asla ¥ s -Y0
Show by equations how to obtain: 1o e S Al LS O s laetl s g
(a) Trinitrotoluene from benzene. SRUSCH ORI PP R PV ()
(b) Cyclohexane from phenol. J sl (re Attt Hlusgl (o)

12
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Show by equations both oxidation and |s.wS¥1Jelss (o MS S¥alastly 79 -1
reduction reactions in the fuel cell. 298 M Ads B J1s o Jelady

Show by equations how to obtain iron III [ L g8 e Jani oS O¥slactly g - YV
chloride from magnetic iron oxide. it linad| s | S cpe [Tt

13
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Choose to answer (a) or (b).
Write down the scientific concept that is
expressed as :

(a) The reaction that proceeds almost to its
end having a high value of equilibrium
constant (K¢).

(b) Concentration of the saturated solution
for springly soluble salt at a certain
temperature.

(Al ¥ 2a0L) e LoausI T - dalatt a0 g3l | Ayt | alad | Balgds Lol

£(2) 51 (1) e Aala 31 s YA

13kl le JIAN elal! allaael| LS

Lotie s IS0 pewn g1 Jelaidd M
s (K) oswrcats ossy

Tl (o pdied! Jalmall 58,5 (o)
day e slodl G QLo momd
e 5yl

Show by equations how to obtain|ele Juesi s O¥slaedl gy -Y4

propanone from a suitable alcohol.

Choose the correct answer:
The compound 2,2 dimethyl butane is
considered as an isomer of the compound:

®
®
©
@

2- methyl butane.

2,2 dimethyl pentane.
2- methyl pentane.
2,2 dimethyl propane.

14

ccwlin J 9S8 (yo O53kig !

 domoual| Aala W)y -V
OLign J=tiee (LD ¥ oY S palt iay

1S pall yag 5l

Olige Juice —¥ O

Ol Juie LS Y (Y @
RN,

Ol dine vy (9
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In the following reaction: 1 L Je e o -

N2H4 —
(@

N, +2H,, AH=(-)

What is the effect of increasing pressure on Sde Lt s Lo dasdali3al) 50 Le

this reaction?

Give reason for: rdle-TY
The copper ion Cu?* is coloured, while the |t ;315 e Leis e gte Cu®’ Lulouidt gl
zinc ion Zn2" is colourless. Osle & Zn®

Show by equation the reaction between | assasuall ausgs Jelad Walactly g -F¥
sodium iodide and silver nitrate. il Sy e
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Choose to answer (a) or (b). £(0) 31 (1) e Aala Y1 i Y8
Show by chemical equations how to obtain: | bk Jaxi a8 Lok OYsladtl g
(a) Iron (IIT) oxide from iron (1) oxalate. (1) s SYLST fyo (TT) et | s (1)

(b) Iron (II) sulphide from iron (IIT) oxide. (M) s wewST (o (1) cbisd| s, (0)

16
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The molecular formula C, Hg O represents
two isomers. Write down the structural
formula of each of them. How can you
distinguish practically between them?

O o CzHGO Aoy daall -YO

Ol 3]

Sy hogin IS AGLD daall LOS)
QL“&LQ.C L&@y},&mﬂ‘dﬁ&e

17
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Four monovalent elements A, B, C and | D, C, B, A 33131 Zusla yolic Zasyl -¥1

D whose oxidation potentials are given s AL Jgumdly Lgious 3 gg
in the table below:
A B C D
04V -0.8V 0.76 V 29V

Calculate the greatest value of electromotive | 4w ¢S 2adlatt 3530 Aed 2T Cows
force that can be obtained when forming a|aoclats ads (4 eSi lgide J gt EliSan
galvanic cell using two of these elements, and | ccSty « jwliall sia o (oraic o
write the diagram that represents this cell. At 00gY o Mas Y e,

18
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Choose to answer (a) or (b).

Write down the scientific concept that is

expressed as:

(a) The process of coating the metal to be
protected from rusting by another metal BN Joped Led W Aelii ()
of less reactivity. i - ~ '

(b) Systems in which the chemical energy is IR e Ayes A3l A Mw‘
converted into electrical energy through | >* PLEG Jisly st el
spontaneous irrversible oxidation- -l
reduction reaction.

() 91 (1) oo Aala ¥ i ¥V

13 ylalt e JIAT alal) allacel! COS)

(e dioles 3 nedt 3Hall Adasi dee (1)
o Lid die JB1 451 3y Tl

Choose to answer (a) or (b).

Write down the equation of Hematite
reduction in:

(@) 91 (1) e Al W1 i -YA
(8 Coli Lagl! J1 35051 A alae IS

L Ladl (st M

(a) The blast furnace. oS e (352 (o)

(b) Midrex furnace. '
19
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Choose to answer (a) or (b).
Show by chemical equations:
(a) The reaction of diluted hydrochloric acid
with sodium sulphite.
(b) The reaction of hot concentrated sulphuric
acid with hydrogen bromide gas.

ETH Choose the correct answer:
[£30 ml. of nitric acid is neutralized with 10 ml.
of magnesium hydroxide whose cocentration
1s 0.3 Molar, the concentration of nitric acid
equals:

@ 0.01 Molar
() 0.02 Molar
@ 0.1 Molar
@ 0.2 Molar

Give reason for:
Iron melts at a very high temperature that
reaches 1538°C.

20

L S Aaltly) eleasdl - doladt oL dt yd | aled | Balgds Oyl
3 el R XL Hdplas)

+(2) 9l (1) oo Aala M1 pid -Y4

P A0 LeauSH DN 3 laell i g

Cadasnall dlyyglS g gl pae Jelai (1)
- paagall Codn »S 2o

Bl A, S jaes Jelas (@)
O 9yl e g 1 58 e (5Lt

 Aoviouall Aala W1 puni-t o

Jo 10 pe by ot e (1o Jo 30 Jalai 13
(55%90 0.3 0548 52 gl Lad| euuS gy (0
s § gk by yodd| e 58 )5 Ol

$,¥500.01 (D)
($,¥300.02 Q@
$¥300.1 &
%5002 (O

s Me -8
JgieNoYA I
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An electric current is passed through | oo it Jolme 2 1 5gS SLG el —£Y
an electrolytic solution of silver nitrate | aaall (o 3531 (o Aall oo

between an anode of silver and a cathode sl e 39318
of iron. Show the change that would|.:s33 4GS Lle Tpday U piid| mg
happen to the cathode mass. Explain il | ywid

yYour answer.

Show by equations how you would obtain | e Juami as o¥slaclly gy -£¥
carbolic acid from the simplest aromatic | &g, g e dawsl (o Gt 91,3 (e
hydrocarbon. sileg)f

21
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m If the degree of solubility of aluminum | AwSgywa Oligs axys cols faf-g¢
hydroxide Al(OH); is 1070 mole/litre. | 1070 sstus AL (OH);  asiiegt¥i
Calculate the solubility product of|LnBY Jols aed cawsl I /Jge
aluminum hydroxide. e g S g yig!

Show by chemical equations how t0 | Juas=3 oS dileasI oY slastl g —£0
obtain ethane from methane. Oliet ! (e GLLN Lo
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